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; 1,2, ‘3""or 4) and wiite the numlier of the
correct anst-.rer it the brackets pmmded Also shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet.

1. 7 014 wiitten in words is

(1) Seven hundred and four
(2) Seven hundred and fourteen
(3) . Seven thousand one hundred and four
. (4), Seven thousand and fourléen ( )

2. In 6 894, the place value of the digit 8 is

(1) ones (2) tens

(3) hundreds _ (4) thousands ( )
3. How many hundreds are there in 7 200 ? . R

(1) 72 - 22

(3 200 (4) 720 o ¢ )



4, 5.555is thesameas

() 5000+5+5+5 (2) 5000+500+5+5
{3) 5000+505+5. 4) 5000+550+5

5. Which of the following sets of numbers s arranged from the smailest

fo the greatest 2 .
(1) 3109, 3019, 3190 - (2) 3180; 3109, 3018 "
(3) 3019, 3109, 3190 (4) 3018, 3180, 3109

6. 4500is 10 more than

(1) 4400 (2) 4 480
(3) 4510 (4) 4900

7. Siva's teacher asked him to write somie number patterns. Which of

the following-number patterns was incorrect ?

(1) 43,53,63,93 ) 50,60,70.80

(3) 95,85,75,65 (4) 99,88,77,66



8.

10.

Whiat Is the difference between the values of the digit 9 and digit 7 in

95727
(1) 9500 @ s
(3) 8930 (@) 85928

Mr Mah had 1 000 stickers. He tised 576 stickers on puplls’ neat

written:work and gave 200 stickars to his colleague. Howmany

stickers had he left ?
() 224 () 376
© 424 @ 776

Mr Tan earned $5 984 a month. Mr Ho earned $1 250 more than Mr
Tan. Each month, Mr Ho spent $2 635 and saved the rest of his

éalary. How much did Mr Ho save each month ?

(1) $2099 ' (2) $4539
(3) $7369 (4) $9869



11.  One thousand five hundred and one written as a numeraf is

Ans:
12. Find the sum of 893 and 8 §40.
Ans :
13. Find the difference between 1 729 and S 010.
Ans:




14, Useralithercands below o formithe smallest:diglt odd rusfber.

e L TET Poars:

2 6 11 4

15. Whatls the even whole number befween 6828 and 6832 ?

Ans:

16.  Whatis the missing number in the box belaw ? -
' sl l2 9

- 3 8 § 4

4 6 7 5

Ans:




17. LamamﬂLnglmUmheu, -

18.

18:

s dina ﬂﬁ

Tie Higtt ‘inthe: hundreds place is 1.
The digitin the ones placa is S.more than the dight in the-tens place

What numberam 1 ?

..A’ns :

Thére were 890 people atthe MRT Station. 450 of them were adults
and the rest were children -Ifthere were 200 gids. how nrany boys

were there.?

Ans:

Mr Ahmad had $2 000. He bougtt ahandphoﬁe at $560 arid a watch at
$370. How miuch money had he left 7

Ans: $




clearly shown as marks: may:be'an.?arde"d
20. Peter, Kassiifv and Atiish hiad 566 stamps attoge

* Peter had 984 stamps and Kassim had-138 stamps.
(a) How nmany more stamps did Pefer have than Kassim ?
(b) Howmany stamps didAsush have ?

- - T Ans: (a)_

~em)

(2m)

®)



|21, Thiee mm@e”m o g, s A i i
- -fade 1293{33931‘-{9555 Class Band Class.C-fade 153@ paner roses
‘C!ass A made 600 paper roses.

- (@) How many paper fozos did Claéé 6 ivake ?

(b) Which class made the most paper roges ?

Ans: -(a)‘ - - . (zm)
© (em)-



i e s e = T e

22 BoxA'and Box B con’tamed*s*ome‘pensﬂoxﬁ\ had 56‘ more- pens than Box B.

After 32 pefiswerehovéd “FFOm 5!3*‘63?@%@3)%%}%9@wére='276f*béns in Box A.
(@) How many pens were the-rg.‘in Box A at first ?

(b} How many pens were thhere in Box B in the end ?

Ans: (a) _ (2m)

(b) (2m)

- £nd of Paper -
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11)1501 12)9433 13)3281 14)2461 ©  15)6830
16)8529 17)2138 '

18)890 — 450 = 440
440- 200 =240
19)$580 + $370 =$950
$2000 — $950 = $1050
20)a)284 —- 138 = 146
Peter have 146 stamps more than Kassim.
b)284 + 138 =422
586 —422 =164

Arush have 164 stamps.
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. Class € made the most paper roses,
22)a)270 - 32 = 238

There are 238 pens in Box A at first.
b)188 32 = 156

There are 156 Pens in Box B in the end.
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